Let’s draw some diagrams

For each question, draw a diagram from the information given.  Assume a right-angled triangle is used in each case.

Remember:
· make sure you include all information, including the unknown value and any labelling
· the diagrams do not need to be drawn to scale
· you are only interested in the triangle – you don’t need to draw the whole picture!

1. A tree is 15m tall.  At a certain time of day, it casts a shadow that is 25m long.  A gardener wants to find angle x, which is the angle between the tip of the shadow and the top of the tree.


2. A pylon has been constructed 20m away from a farm gate.  The farmer has worked out that the angle from the bottom of the farm gate (G) to the top of the pylon (P) is 42°.  The farmer wants to know the height, h, of the pylon.

3. An abseiler has lowered 50m of rope from the top of a cliff (T).  His friend (S) is standing away from the base of the cliff, holding the other end of the rope.  The rope is making an angle of 70º with the ground.  The abseiler wants to know the height of the cliff, c.


4. Bill the builder leans his 10m ladder against a house, at an angle of 47°.  It touches the wall at point W, just below a window.  Bill wants to know how high up the house (h) this is.
Answers
1. A tree is 15m tall.  At a certain time of day, it casts a shadow that is 25m long.  A gardener wants to find angle x, which is the angle between the tip of the shadow and the top of the tree.

2. A pylon has been constructed 20m away from a farm gate.  The farmer has worked out that the angle from the bottom of the farm gate (G) to the top of the pylon (P) is 42°.  The farmer wants to know the height, h, of the pylon.




3. An abseiler has lowered 50m of rope from the top of a cliff (T).  His friend (S) is standing away from the base of the cliff, holding the other end of the rope.  The rope is making an angle of 70º with the ground.  The abseiler wants to know the height of the cliff, c.


4. Bill the builder leans his 10m ladder against a house, at an angle of 47°.  It touches the wall at point W, just below a window.  Bill wants to know how high up the house (h) this is.
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